

# Factorial of Sum of Nonnegative Integers for Computing and Algorithms

Chinnaraji Annamalai

School of Management, Indian Institute of Technology, Kharagpur, India

Email: [anna@iitkgp.ac.in](mailto:anna@iitkgp.ac.in)

<https://orcid.org/0000-0002-0992-2584>

**Abstract:** This paper presents a theorem for factorials with the sum of nonnegative integers. The results of theorems can be used as application in computing science and cryptography to develop algorithms like RSA algorithm and Elliptic Curve Cryptography.

**MSC Classification codes:** 05A10

**Keywords:** algorithm, combinatorics, factorial, computation

## 1. Introduction

The factorial of a non-negative integer  $n$ , denoted by  $n!$ , is the product of all positive integers less than or equal to  $n$ .

For example,  $7! = 1 \times 2 \times 3 \times 4 \times 5 \times 6 \times 7 = 5040$ . Note that zero factorial is always one, that is,  $0! = 1$ .

## 2. Factorial of Sum of Nonnegative Integers

The theorem [1-7] states that the factorial of sum of any  $k$  nonnegative integers is equal to multiple of the product of factorials of the  $k$  nonnegative integers.

Theorem: For any  $k$  nonnegative integers  $n_1, n_2, n_3, \dots$  and  $n_k$ ,

$$(n_1 + n_2 + n_3 + \dots + n_k)! = (a_1 \times a_2 \times a_3 \times \dots \times a_{k-1}) \times n_1! \times n_2! \times n_3! \times \dots \times n_k!,$$
$$\text{that is, } \left( \sum_{i=1}^k n_i \right)! = A \prod_{i=1}^k n_i!,$$

where  $A = a_1 \times a_2 \times a_3 \times \dots \times a_{k-1}$  and  $A, a_1, a_2, a_3, \dots, a_{k-1}$  are nonnegative integers.

*Proof.* Let  $x = n_2 + n_3 + n_4 + \dots + n_k$ .

Then,  $(n_1 \times x)! = n_1! \times (n_1 + 1)(n_1 + 2)(n_1 + 3) \dots (n_1 + x) = a_1 \times n_1! \times x!$  can be proved by mathematical induction.

**Basis.** Let us show that  $(n_1 + 3)! = n_1! \times (n_1 + 1)(n_1 + 2)(n_1 + 3) = n_1! \times c \times 3!$  is true. If  $n_1 = 2$ ,  $(2 + 3)! = 2! \times (2 + 1)(2 + 2)(2 + 3) = 120 = 2! \times 20 \times 3!$ , where  $c = 20$ .

**Inductive hypothesis.** Let us assume that the result is true for  $(x - n_k)$  such that  $(n_1 \times (x - n_k))! = n_1! \times (n_1 + 1)(n_1 + 2)(n_1 + 3) \dots (n_1 + x - a_k) = c \times n_1! \times (x - n_k)!$ .

**Inductive Step.** We must show that the inductive hypothesis is true for  $(x - n_k) + n_k$ .

$(n_1 + x - n_k + n_k)! = n_1! \times (n_1 + 1)(n_1 + 2) \cdots (n_1 + x) = k \times n_1 \times (x - n_k + n_k)!$ .  
that is,  $(n_1 + x)! = n_1! \times (n_1 + 1)(n_1 + 2) \cdots (n_1 + x) = a_1 \times n_1 \times x!$ ,  $(k = a_1)$ .

Hence,  $(n_1 + (n_2 + n_3 + n_4 + \cdots + n_k))! = a_1 \times n_1! \times (n_2 + n_3 + n_4 + \cdots + n_k)!$  is proved by mathematical induction.

Similarly, we can apply the same induction method to prove each of the sums such that  $(n_2 + n_3 + n_4 + \cdots + n_k)! = a_2 \times n_2! \times (n_3 + n_4 + \cdots + n_k)!$ ;  $(n_3 + n_4 + n_5 + \cdots + n_k)! = a_3 \times n_3! \times (n_4 + n_5 + \cdots + n_k)!$ ;  $(n_4 + n_5 + n_6 + \cdots + n_k) = a_4 \times n_4! \times (n_5 + n_6 + \cdots + n_k)!$ ; ,  $\cdots$ , and  $(n_{k-1} + n_k) = a_{k-1} \times n_{k-1}! \times n_k!$ .

It is understood that, by mathematical induction, we proved theorem such that  $(n_1 + n_2 + n_3 + \cdots + n_k)! = (a_1 \times a_2 \times a_3 \times \cdots \times a_{k-1}) \times n_1! \times n_2! \times n_3! \times \cdots \times n_k!$ ,

$$\text{that is, } \left( \sum_{i=1}^k n_i \right)! = A \prod_{i=1}^k n_i!, \quad \text{where } A = a_1 \times a_2 \times a_3 \times \cdots \times a_{k-1}.$$

How to find out the coefficient A in an alternative way?

A can be found out by using the following result:  $A = \frac{(n_1 + n_2 + n_3 + \cdots + n_k)!}{n_1! \times n_2! \times n_3! \times \cdots \times n_k!}$ .

For our convenience, we can rearrange the nonnegative integer A as follows.

Let  $A = 64$ .  $A = 1 \times 64$ ;  $A = 2 \times 32$ ;  $A = 2 \times 2 \times 16$ ;  $A = 2 \times 4 \times 8$ , etc.

Similarly, if  $A = 21$ , Then,  $A = 1 \times 21$  or  $A = 3 \times 7$ .

Corollary: If  $n_1 = n_2 = n_3 = \cdots = n_k = n$ . Then,  $(n_1 + n_2 + n_3 + \cdots + n_k)! = (k \times n)!$ .

For instance,

If  $n_1 = n_2 = n_3 = \cdots = n_k = 0$ . Then,  $(n_1 + n_2 + n_3 + \cdots + n_k)! = (k \times 0)! = 0! = 1$ .

If  $n_1 = n_2 = n_3 = \cdots = n_k = 1$ . Then,  $(n_1 + n_2 + n_3 + \cdots + n_k)! = (k \times 1)! = k!$ .

If  $n_1 = n_2 = n_3 = \cdots = n_k = 2$ . Then,  $(n_1 + n_2 + n_3 + \cdots + n_k)! = (k \times 2)! = (2k)!$ .

If  $n_1 = n_2 = n_3 = \cdots = n_k = k$ . Then,  $(n_1 + n_2 + n_3 + \cdots + n_k)! = (k \times k)! = k^2!$ .

This idea can help to the researchers working in computer science, computational science, and cryptography for developing algorithms and software to solve the real-world problems.

### 3. Conclusion

In this article, an innovative combinatorial technique and theorem are introduced and the theorem states that the factorial of sum of any k nonnegative integers is equal to multiple of the product of factorials of the k nonnegative integers. This methodological advance can enable the researchers working in computer science, computational science, and cryptography for developing algorithms and software to solve the most real life problems and meet today's challenges [8].

### References

- [1] Annamalai C (2022) "Application of Factorial and Binomial identities in Communications, Information and Cybersecurity", Research Square.  
<https://doi.org/10.21203/rs.3.rs-1666072/v6>.

- [2] Annamalai C (2022) “Application of Factorial and Binomial identities in Cybersecurity”, engrXiv. <https://doi.org/10.31224/2355>.
- [3] Annamalai C (2022) “Application of Factorial and Binomial identities in Computing and Cybersecurity”, Research Square. <https://doi.org/10.21203/rs.3.rs-1666072/v3>.
- [4] Annamalai C (2022) Theorems based on Annamalai's Binomial Coefficient and Identity, Zenodo. <https://doi.org/10.5281/zenodo.6548228>.
- [5] Annamalai C (2022) “Application of Factorial and Binomial identities in Cybersecurity and Communications”, Research Square. <https://doi.org/10.21203/rs.3.rs-1666072/v4>.
- [6] Annamalai C (2022) “Application of Annamalai’s Factorial and Binomial identities in Cybersecurity”, OSF Preprints. <https://doi.org/10.31219/osf.io/djg34>.
- [7] Annamalai C (2022) “Application of Factorial and Binomial identities in Communication and Cybersecurity”, Research Square. <https://doi.org/10.21203/rs.3.rs-1666072/v45>.
- [8] Annamalai C (2010) “Application of Exponential Decay and Geometric Series in Effective Medicine”, Advances in Bioscience and Biotechnology, Vol. 1(1), pp 51-54. <https://doi.org/10.4236/abb.2010.11008>.